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1 Fill in the blank in the sentence given, choosing the most suitable article from the options provided.

I take nearly hour to eat my tiffin.
(A) on (B) the
(C) an D) a

(E) Question not attempted

2 Fill in the blank in the sentence given, choosing the most appropriate word from the options provided.

The times that I met him in the park, walking his dog, he looked worried.
(A) few (B) many
(C) more (D) afew

(E) Question not attempted

3 Fill in the blank in the sentence given, choosing the most appropriate word from the options provided.

I don’t take sugar in my tea, as I am health conscious.
(A) much (B) many
(C) little (D) alittle

(E) Question not attempted

1 1 1 1 11
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4 3
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(A) y (B) )
15 12
©) > (D) T

(E)  Question not attempted / 3T q9g
X41] @ 2 [ P.T.O.



0.3%x0.3+0.03x0.03-0.6x0.03 s

5 Solution of
0.54
0.3x0.3+0.03x0.03-0.6x0.03
FIEA -
0.54
(A) 0.5 (B) 0.03
(C) 0.135 (D) 0.982

(E)  Question not attempted / 37 q9g

6 Which constitutional amendment provided a three tier system of Panchayati Raj for all state having
population of over twenty lakhs ?
(A) 42" amendment (B) 44" amendment
(C) 25" amendment (D) 73 amendment

(E) Question not attempted
T o fore TRITEM o ST 20 ARG & HATeeh SIHEEAT JTel Sodsh Tod W BRA J=TeT TSt Sorrefl g
EIRIEY

(A) 42 9F €@3meE (B) 44 9f €3MEA
(C) 254t d@me (D) 734 @3med
(B) rgafta

7 At the time of revolt of 1857 who was the Mughal Emperor of India?
(A) Bahadur Shah Rangila (B) Shah Alam
(C) Ahmed Shah (D) Bahadur Shah II
(E) Question not attempted

G 1857 o Tor5ie o T AT H 1Tt SITaRITE Shi T2

(A) RIgL 3 Tife (B) & HATaH
(C) STEAS IR (D) EIGIME 11
(E) rgafaus

X41] @ 3 [ P.T.O.



8 A piece of paper is first folded and a cuts are made as shown below. From the given responses indicate
how it will appear when opened?

i1 fop e oo o feman man @, we s %E@hs?ﬁ“ISQd HIgT ST oL 12T ST 21 /IS T TS o ThS
aﬁ@aﬁwwﬁaﬁﬁﬁqwmﬁﬁaﬁmﬁaﬁ?

Problem figures / WT%H

. T e /
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WEo NE WEOWB

©

(E)  Question not attempted / 377 Iy

9 Which conclusion would follow on the basis of given statements.
Statement A : If there is a shortage in the production of onions, the price of onions will go up.
B : Price of onions has gone up.
Conclusions : I : There was shortage in the production of onions.
IT : Onions were exported.

(A) Only I follows (B) Only II follows

(C) Neither I nor II follow (D) Both I and II follow
(E) Question not attempted

f3U TQ e o STTUR T -8 ke frerer-

FAT A : IS o IcATET H HHT BT, O WS Shl A oI S|
B: WS sl himd s¢ T 2
e - 1 @IS o ScTe | T TS
11 : =t 1 Tt fopam |
(A) e | ST LT 2
(B) WHWUTW%I
(C) maﬁwww%mﬁrnwww%l
(D) aﬁrlaﬁtnwmmﬁél
(E) rgafaus

X41] @ 4 [ P.T.O.



10  Which conclusion would follow on the basis of given statements.
Statement A : Without rains the crops will not be bountiful.
B : The crops were bountiful.
Conclusions : I : There were rains.
II : Crops were bountiful due to good fertilizers.
(A) Only I follows (B) Only II follows
(C) Neither I nor II follow (D) Both I and II follow
(E) Question not attempted

few T et o AT W - e fehe?
R : Aaﬂf%mwﬁaﬁmﬁﬁl
B:Wﬁﬂ%mi’ﬁl
freRd:  1aierEs ol
11 : 3T T o HILOT FEIet Sl g5l
(A) eI | ST LT
(B)  haIe 1T STE0T AT 2
(C) AT I STTHTOT AT & ST AT & 1 ST HLT 2
(D) BT I3 11 3FTER0T hLd B
(E) S¥aiea g

11  RighttoFreeand Compulsory Education Act,2009 isbeing implementedin Rajasthansince

(A) 1* April 2009 (B) 26" April 2009

(C) 1 April 2010 (D) 5" April 2012

(E) Question not attempted

TrsTer H {1 3Teen Ue e et st stfereRm stferfem 2009 CISIRERIRRI
(A) 1373 2009 (B) 26 31 2009

(C) 13172010 (D) 532012

(E) Irgafaus

12 Who among the following received the “Arjuna award” in 2023?
(A) Mohammed Shami (Cricket) (B) Lalit Kumar (Wrestling)
(C) Shivendra Singh (Hockey) (D) Manjusha Kanwar (Badminton)
(E) Question not attempted

T € foRer 2023 § 315 TR TTH 5317 27

(A) uﬁ@awﬁm) (B) QfcTd AR (F¥il)
(O RREEACHEED) (D) [T et (sTefife)
(E) Irgafaus

X41] @ 5 [ P.T.O.



13 Match List-I with List-IT
List-1
(Form of Dance)
a. Bharatnatyam
b.  Kathak
c. Kathakali

d.  Kuchipudi
el -1 R =T 11 & gofoa i

et -1
(T =T &)
a HIAFTCIH,
b. YR
c. YUl
4

IL.

III.

IV.

II.

IIL.

IV.

List-11

(State)

Andhra Pradesh
Kerala

Uttar Pradesh

Tamil Nadu

et -1
=)
g T
A
B E]

aftere

O

Choose the most appropriate answer from the options given below:

it few T et # & wifeeh S S T :
(A) a-IV,b-ILc-ILd-I
(C) a-ILb-1V,c-Ld-II

(E)  Question not attempted / 3TTANT I

B)
D)

14  The Treaty of Badgaon (1779) was signed between

(A) Maratha (B) Nawab of Awadh
(C) Hyder Ali (D) Rajputs

(E) Question not attempted

T 1779 ¥ sreia it wfy IR SIS o off=r seareafia g%

(A) w3t (B) 3719y o el
(C) eeT et (D) TS@l

(E) SFgaid 9

X41] @ 6

a-1Lb-TLc-1V,d-1

a-1V,b-1,c-1Td-1

and the British.

[ P.T.O.



15  Who were the founders of Swaraj party?
(A) Madan Mohan Malaviya and S.C. Bose (B) Mahatma Gandhi and Motilal Nehru

(C) Motilal Nehru and C.R. Das (D) Jawaharlal Nehru and Vinoba Bhave
(E)  Question not attempted

TS AT o HETI i o2

(A) T UIET AT 3T TE. | 5 (B) weTeHT et 3 Aidfierer Jew

(C) WIS A8% A Y. . g (D) ETET AT 8 3T famte vra

(E) SFgaiea o

16  “Arab Spring”’- phrase was used for the first time by .
(A) Mark Wood (B) Mark Linch
(C) Crishchyan Paistorsh (D) George W. Bush
(E) Question not attempted

e T Srerier ugell oI foreren gy S fomam T o2

(A) IS (B) e fofer
(C) Torvramm Y=g (D) SISl o], =T
(E) SFaiea o

17  Samp Sabha was established by
(A) Govind Guru (Giri) (B) Amrita Devi
(C) Dadu Dayal (D) Jasnath

(E) Question not attempted
T G <hT TATOHT fohereh ST T 778 off?

(A) e TTE () (B) IrgaT el
(C) g (D) &Y
(E) SFaiea o

18 The Quorum for any meeting of village assembly (Gram Sabha) is
(A) 25% presence of the total strength (B) 10% presence of the total strength

(C) 5% presence of the total strength (D) 1% presence of the total strength
(E) Question not attempted

7T T ol Toreft +ft Sk 3 forg o () Bl 2

(A) T WG AT 25% Iufeerfa (B) e WEAT T 10% Iueafa

(C) e H&HT AT 5% Iufearfa (D) e HEATHT 1% Iufafa

(E) Irgafaus

X41] @ 7 [ P.T.O.



19

20

21

Which is known as an Executive Committee of Gram Sabha?
(A) Village Panchayat (B) Panchayat Samiti
(C) Panch Parishad (D) Village Standing Committee

(E)  Question not attempted

freferitaa & & forer o g Y srdenr) wfufa o &9 8 ST ST 22

(A) UMW 9= (B) dHamIa @t
(C) dY=uiwg (D) v Tl wfufe
(E) Irgafaus

Which is not the Institution of Rural Local Self Government ?
(A) Municipality (B) Village Panchayat
(C) Zila Parishad (D) Panchayat Samiti

(E) Question not attempted

famferfiaa 9 @ i artor e w-femm shi g =i 22

(A) TRttt (B) UMW d=Id
(C) fSemuie (D) =T affy
(E) SFaiea g

Which of the following is not a function of Panchayat Samiti? (Choose the most appropriate option
from below)

(A) Micro irrigation and drinking water

(B) Land reforms and soil conservation

(C) Statistics disaster aid, co-operative and library work

(D) Town Planning

(E) Question not attempted

Frfarfad o & S-a v=mer |l w1 wE T8 22 (e H @ wes W faered i TH)
(A) qaw H=TE s

(B)  +Ife eI el TaT e

(C) wiRexhl, STURT FETAAT, HEhTAT T Teshierd sl

(D) R e

(E) Irgafaus

X41] @ 8 [ P.T.O.



22 Which of the following tasks can not be performed online (internet)? (Choose the most appropriate
option from below)
(A) Book Air tickets (B) Check for bank statement
(C) Shopping of clothes (D) Sowing of crops
(E) Question not attempted

frfaTfad @ & 9 |1 R SAHTS (SeT1e) T8 o ST HeRdT 82 (Fe 1 & Serel STIeh forehed 1 <)

(A) &S feshe oo T (B) ek WeHe dhl St T
(C) Ui hl THiar (D) uel! ) TS
(B) rgafa s

23 Which of'the following is responsible to convert the data input by the user to the format understandable
by computer?
(A) Arithmetic Logic Unit (ALU) (B) Input devices
(C) Output devices (D) Operating system

(E) Question not attempted

freaferfiaa 5 & S ITRTTeRat ST S fohU T e T heget g EwE A e H aftafda s & fag
ST Bt 22

(A)  3Afemfeen difste e (ALU) (B) 39 feamzm
(C) wSeye fearsq (D) fTfe fereew
(BE) Irgafaus

24  Who was appointed as Chief Information Commissioner of India in November 2023.
(A) Wajahat Habibullah (B) Deepak Sandhu
(C) Rajeev Kumar (D) Heeralal Samariya
(E) Question not attempted

TR 2023 H, W o H& o1 ST o &9 H fopd) T1g<h foparm

(A) SSITEd Bsfiseett (B) ek €y
(C) TSI FAT (D) BRI |
(E) Irgafaus

X41] @ 9 [ P.T.O.



25  In which year the Oil and Natural Gas Commission (ONGC) was setup?

(A) 1954 (B) 1956
(C) 1958 (D) 1962
(E)  Question not attempted

1 T S € (ONGC) 3T T il 852

(A) 1954 %. (B) 1956%.
(C) 1958%. (D) 1962%.
(E) SFgaiea o

26  Where is the largest coal field situated in the state of Jharkhand?
(A) Ramgarh (B) Jharia
(C) Karanpura (D) Korba
(E) Question not attempted
FREUE TS H el SIST hIFaT & el ot feord 22

(A) THTE (B) i@
(C) FHoIqq (D) RS
(E) SFaiea o

27  Annapurna certificate is an initative of the .
(A) National Council of Teacher (B) NITI Aayog
(C) NCERT (D) Indian Council for Cultural Relation (ICCR)
(E) Question not attempted

SO ST TRl e &2

(A) U fRrereh ol (B) ify s
(C) TAHE (D) VTR Tieahfe Teier 9ig (3715 €t €1 31m)
(E) SFaiea o

28  Which state stood first in production of Bajra crop in the year 2022-2023?
(A) Madhya Pradesh (B) Gujarat
(C) Uttar Pradesh (D) Rajasthan
(E) Question not attempted
TN 2022-23 H TS ol FHA o TG H i TT TsT TH T T IET?

(A) HeT W (B) TS
(C) I He (D) TSEIH
(E) Irgafaus

X41] @ 10 [ P.T.O.



29  What is India’s rank in the climate change performance Index 2024?
(A) I"rank (B) 7" rank
(C) 16™rank (D) 29" rank
(E) Question not attempted
ST TTEi YaR Faehich 2024 H WA %1 €T shi €1 8?

(A) = (B) ®rat
(C) Hiereat (D) 3~IchEat
(E) Irgafaus
30  Which of the following belongs to the category of 4™ Generation Language?
(A) Query Language (B) Assembly Language
(C) High Level Language (D) Machine Language
(E) Question not attempted
e o o teft fiedt <t T @ wsifera 2-
(A)  FH 9T (B) TETSTAT WTST
(C) =3 oiae 9T (D)  FfT T
(E) SFaiea o

31 MS-Word is an example of

(A) Aninput device (B) System software

(C) Application software (D) An operating system
(E) Question not attempted

T T € Tk 30T &

(A) ThEgE feama = (B) ToreeH Higede i
(C) UATRIN HFeaT HT (D) Uk ATRIT forem =
(E) SFaied o

32  The program and instructions that help a computer in carrying out their processing are known as

(A) Software (B) Hardware
(C) Memory (D) Data
(E) Question not attempted

ST ST 37K e et il ST s § Heg Hd 8, o e 82

(A) W9 (B) TEHRK
(C) AHHY (D) ST
(E) Irgafaus

X41] @ 11 [ P.T.O.



33 The difference between 54% of a number and 26% of the same number is 22512. What is 66% of that

number?

Teh ST o 54% 3T 26% o HET T L 22512 21 39 GE&AT HT 66% foha=T B2
(A) 53046 (B) 53604

(C) 50364 (D) 53064

(E)  Question not attempted / 37 a9y

34  The bar graph shows the production of items A, B and C during the months April, May and June
The total production of items A, B and C during April and May are in the ratio

T R T, 378, WS S o AR ok G ST A, B I C % IeTE i GIar | -
I SR HS o S I A, B 3R C 1 il Ic1e [ohel SFTATAH € -

350 [=]
o
0
300 =
~

250 g ,S v
20015 5 / 5

X5 ] L &

/ oy “/ ‘l ¥ ...
100} / = el // o |

/f, et ® A% e A8 e [
50 b L g d s »

/, :‘ - :.ﬂ . :‘: m

April May June
et o3 S
%
so%s
Product A Product B Product C
346 A 315 B 3SdE C
(A) 3:5 (B) 23
(C) 1:1 (D) 34

(E)  Question not attempted / 37 a9

35  From a circular piece of cardboard of radius 3 cm, two sectors of 40° each have been cut off. The area

22
of the remaining portion (in cm?) is (n = 7J

T 3 T HIsa ATt JATehi 1S A1 o Zhs § 40° o 31 Haed e U TTT | 2T 9T 1 &5%d (6. 7.2

#(n-2)
: Ak
A) 11 (B) 22
(©) 33 (D) 44

(E)  Question not attempted / 3T 9
X41] @ 12 [ P.T.O.




36 H,J,M, A, T, U are six members of a family. M is the mother of T. H is the brother of J. A & U are
married couple. T is the sister of A. M is the wife of J. How is H related to A? (Choose the most
appropriate option from below)

(A) Brother (B) Father

(C) Uncle (D) Nephew

(E) Question not attempted

H,J,M, A, T, U, T& TER & B: §&&3 8l T I dF M 21 J 1 915 H 81 A 3R U T IMET-3[ET SISt 81 A
HT e T 1 AT Tl MBI H T A & o w22 (e § & et 3o forered <)

(A) wE (B) fum
(C) == (D) WIS
(E) SFaiea g

37 Ifina certain code ‘ENDEAVOUR’ is written as ‘DNEVAERUOQ’, then how can ‘AMPLIFIER’ be
written in the same code?
Ife ush ffea s 7 ‘ENDEAVOUR® &l ‘DNEVAERUO’ forar SiTdt 8, 9 ‘AMPLIFIER’ &l SHT
e e o forgr yepm o smam?
(A) PMAFILIER (B) PMAFILREI
(C) DMAFILRVO (D) PMALIFREI
(E) Question not attempted / 3‘!@?&?[ 99

38 What will come in place of “?”
<97 o T T T ST
M4K, 091, Q25G, ?, U121C
(A) P64E (B) S49E
(C) P49E (D) S36F
(E) Question not attempted / 3‘@?&?[ e

39  Which is not a merit of Socialistic economy? (Choose the most appropriate option from below)
(A) Planned economy (B) Decrease in the freedom of consumer
(C) Equal distribution of income and wealth (D) Assurance of minimum standard of living

(E) Question not attempted

T 1§ -1 GHTSTaTT ST 1 0T el &7 (T 5 6 Her U fohed )

(A) TSN STefeaee (B) IUIHT shl T § Y
(C) A 31 o (dufxr) 1 ga ferawor (D) A STiei & ol STrETE / e
(E) Irgafaus

X41] @ 13 [ P.T.O.



40

41

42

43

Which soil is known as “Regur Soil”?

(A) Black Soil (B) Red Soil
(C) Yellow Soil (D) Laterite Soil
(E)  Question not attempted

forer firgh oAt e gt o 1 & ST ST 22

(A) hreft fgt (B) Tt fwgr
(C) et firgt (D) wewse figt
(E) Irgafaus

The Nanda Devi Biosphere reserve is situated in

(A) Uttarakhand (B) Himachal Pradesh
(C) Sikkim (D) Arunachal Pradesh
(E) Question not attempted

“Far <t S qued e forg T 1 fora 22

(A) ITEUS (B) TeuTrae yeIr
(C) Taferm (D) STEUTEA TS0
(E) SFaied o

Which one of the following is a plantation crop?

(A) Tea (B) Wheat
(C) Rice (D) Bajara
(E) Question not attempted

Frafafaa & @ #19 T QU (A=wH) o 27

(A) == (B)
(C) =mEd (D) dSET
(B) Irgafaus

Who amongst the following was awarded the Ramon Magsaysay Award?

(A) Karpur Chandra Kulish (B) Dr. Pramod Karan Sethi
(C) Pt. Vishwa Mohan Bhatt (D) Komal Kothari

(E)  Question not attempted

Trforfiaa o & foret T T qUeshmt & gt fora T em?

(A) FUTEE FHiewr (B) EI. YHIE %01 Gt
(C) ufved fag o vg (D) g HIBH
(E) Irgafaus

X41] @ 14

[ P.T.O.



44  Which of the following statements is not correct about the administration during the Mughal Period?

(A)
(B)
©
(D)
(E)

Sardar-Mir-e Sana was the Chief of Naval department

Mughal administration system was fusion of Indian and foreign administration system
The emperor was the supreme authority

Provincial administration was divided into Subas

Question not attempted

TS ShTet oh SR STTTE o o 7 Ffefa 3 & w6 a e we e 8

(A)
(B)
©
(D)
(E)

TGR-HIT-T G HHEAT forsm o s 2

T FRTTEA YOIt A ST forareft T somett =t firsror off|
I YT T el FTTRrshTdl <)
EILRRRIGE IR CIERERIIECRERIRRIRI

g g

45 “Kevalya” is associated with

(A) Philosophy of Buddha (B) Philosophy of Jainism
(C)  Vaidik Philosophy (D) Persian Philosophy
(E) Question not attempted

(A) FE|MH (B) SH@@A#

(C) Sfcwmag (D) wrRHt e

(B) Irgafaus

46  Which is not a natural ecosystem?

(A) Mountain (B) Aquarium
(C) Desert (D) Forest
(E) Question not attempted
I T Tk TTehfcreh UTH (eRTTEEeH) & 82
(A) "ad (B) TR =
(C) fiam (D) S
(E) rgafaus
X41] @ 15 [ P.T.O.



47  The National anthem of India ‘Jan Gan Man’ was written by-
(A) Sarojini Naidu (B) Bankim Chandra Chattopadhyay
(C) Sharat Chandra Chattopadhyay (D) Rabinder Nath Tagore
(E) Question not attempted
T T TS ST 7107 H o T 37T 8-

(A) TR TRIg (B) diferwrerg TgtaTeT
(C) IRG=E TSI (D) el AT MR
(E) Irgafaus

48  The length of the longest highway tunnel (Atal tunnel) is
T el BTeS YT (32 ) I A -
(A) 4.03km (B) 11.78km
(C) 7.58km (D) 9.02 km

(E)  Question not attempted / 377 a9y

49 < O © I1e8 H HIA-HT TIT 27

(A) % (B) =
© == (D) 3=
(B) Irgafaus

50 ¢ 3O ¢ ITee W HH-HT T3 27

(A) 9 (B)
(C€) = (D) s
(B) rgafa
51 9= 1 e 11 & frer shifs
Tel-1 Fet-11
(¥T1S3) (ferettm)
a. STTH L. NIEE]
b. TE . T
c. Toied L g
d Wa V. T
= faw e fohedt & & waifie Sugh S T = hifv
(A) a-1V,b-I,c-II,d-1I B) a-IL,b-Tc-1V,d-1II
(C) a-1V,b-ILc-I,d-1I D) a-Lb-TLc-ILd-1V
(E) Irgafaus
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52  Fill in the blank in the sentence given, choosing the most appropriate word from the options provided.

John’s record in swimming is than that of Sonia, this year.
(A) Dest (B) Dbetter
(C) good (D) good as

(E) Question not attempted

53  Fill in the blank in the sentence below, choosing the most appropriate preposition from the option

provided.

There was a long queue the milk booth as the milk supply van had got delayed.
(A) on (B) from

(C) at (D) into

(E) Question not attempted

54  Choose the correct option in reported speech for the sentence given, from the options provided.
He said, “I am yet to propose to a girl I have been dating for a year.”
(A) He said that he was yet to propose to a girl he had been dating for a year.
(B) He said that he will propose to a girl he has been dating for a year.
(C) He said that he was proposing to a girl he was dating.
(D) He said he would be proposing to a girl he has been dating.
(E) Question not attempted

55  Fill in the blank in the sentence given, choosing the most suitable article from the options provided.

The train takes full day to reach my destination.
(A) a (B) no article
(C) the (D) an

(E) Question not attempted

56 What does PC stand for in reference to the Computer?

(A) Program Counter (B) Personal Computer
(C) Performance Counter (D) Program Changer
(E)  Question not attempted

P o Ha | T o R 37 87

(A) U FHISE (B) TETA HH

(C) WHHH HREX (D) ™ qftEdeh

(E) Irgafaus
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57  Which one is the example of first binary programable computer based on Von Neumann architecture?
(A) UNIVAC (B) ENIAC
(C) EDSAC (D) EDVAC

(E)  Question not attempted

freferfafc 5 & 1 |1 o ST e SRt St foh o =i frmtor o st 22

(A) I (UNIVAC) (B) THIU (ENIAC)
(C) T8 (EDSAC) (D) TS (EDVAC)
(B) rgafta s

58  Which of the following is the fastest memory of a computer? (Choose the most appropriate option
from below)
(A) DVD ROMs (B) Static RAM
(C) Hard Disk (D) Cache Memory

(E) Question not attempted

frfeaRad o & et il e o HHIT i & Bt 82 (e 5 O Her ST foehed &l 9H)

(A) €I €19 (DVD ROMs) (B) ek 1 (Static RAM)
(C) =T f&h (Hard Disk) (D) T WERT (Cache Memory)
(E) SFaiea g

59  Which of the following was Capital of Vatsa Mahajanapada?
(A) Taxila (B) Virat Nagar
(C) Kaushambi (D) Champa

(E) Question not attempted

fFrafafad § 9 9 9 weeHYe it e o

(A) e (B) FreTw
(C) hImit (D) =T
(E) rgafaus
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60  To make pure food commodity available to all the consumers of the Rajasthan State, which campaign
is being conducted by the government of Rajasthan since 26™ October 2020?
(A) Nirogi Rajasthan Abhiyan (B) Chiranjeevi Swasthya Yojana
(C) Indira Rasoi Yojana (D) Shuddh ke liye Yuddh Abhiyan
(E)  Question not attempted
TISTEAT TS o G STHIHTSAT oh 6 T ] A FU o (oA TSFET TR ST 26 SFZa 2020 H

TATAT ST T&T Ueh ST &-

(A) TRl e st B) oSl e FisFr
(©) 3w TE A (D) 5 % faugg st
(B) rgafta

61 In Plain Area, Pradhan Mantri Awas Yojana (Gramin) 2024 has contributions by Central government

and state government in the ratio of-

ATt &=t H ST STTETE FISHT (TTHIOT) 2024 o ST ohg T ST TST ST g ANEH T 31T
2-

(A) 60:40 (B) 70:30

(C) 50:50 (D) 80:20

(E) Question not attempted / 31@% T

62  What name was given to the rover sent with the Chandrayan-3 Mission by ISRO?
(A) Gyan Ganga (B) Vikram
(C) Pragyan (D) AdityaL-1
(E) Question not attempted
U (ISRO) gRT T5AM-3 THer o |rer 9197 774 Te oht ot 1 feam mam om?

(A) FHTM B) foerm
(C) T¥H (D) 3feeT L-1
(E) Irgafaus

63  Keibul Lamjao National Park is situated in .
(A) Assam (B) Tripura

(C) Nagaland (D) Manipur
(E) Question not attempted

A AT T FaT feera 8-

(A) FEH (B) PoguH
(C) T H (D) wfTEH
(E) rgafaus

X41] @ 19 [ P.T.O.



64  Divisional Headquarter of Indira Gandhi Canal Project is situated at -
(A) Bikaner (B) Hanumangarh
(C) Jaisalmer (D) Jaipur
(E)  Question not attempted

e et et aftasrT 1 St TeTe el fud 82

(A) R (B) TIHNTG
(C) SETH (D) SEW
(E) SFgaiea o

65  Which of the following steel plant was established with collaboration of Germany?
(A) Durgapur (B) Bokaro
(C) Rourkela (D) Bhilai
(E) Question not attempted

frafafad § 9 9 o1 5o 93 ST S ggan § i foRm R e

(A) g (B) i@
(C) T3tk (D) forems
(E) SFaied o
66  “Declaration of the Rights of Women and Citizen” was written by:
(A) Montesquieu (B) Napolean Bonaparte
(C) Olype de Gouges (D) Rousseau

(E) Question not attempted

“rfgeratf 3 ANTRERT o 31fererrl shl swor foreer gr foredt 2

(A) HicERy (B) I STTE
(C) AT (D) ®&
(E) SFaiea o

67  The group of all adult citizens of the rural area is called
(A) Gram Sabha (B) Village Panchayat

(C) Panchayat Samiti (D) Zila Parishad
(E)  Question not attempted

IO &5t 3 F¥ft SRR ARTIGH % HHE GG

(A) TW AT (B) UMW Y=Ed

(C) d=ma afafa (D) fore uftsg

(E) SFgaid 9
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68 If T=20, TEA=26, then TEN=?
I T=20, TEA=26, AT TEN=?
(A) 39 B) 41
(© 10 (D) 40
(E) Question not attempted / 347\-5% 9

69  Which day of the week was on 29 February, 2004?
(A) Sunday (B) Monday
(C) Tuesday (D) Wednesday
(E) Question not attempted

29 LY, 2004 T GHTE T hi-9T fa 22

(A) TeEm (B) WHaN
(C) HIAIR (D) Fuar
(E) S¥gaiea o

70  In the following question, choose the answer which is embedded in the problem figure.

ffarfiaa war o a8 I’ =, S wwen ot 1 wi-fed o
Problem Figure / gzt

(A) (B)

©) @ D)

(E)  Question not attempted / 377 Iy
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71  Which of the following option is correct water image of given group of letters?

ffefiad o & -8 faered fow Tg 37erl o T o e STt o 22

YOUTH
it
(A) YONLH @) AOULH
(C) AONTH (D) AONLH

(E)  Question not attempted / 3TTANT I

72 Who was the Founder of the Chauhan dynasty of Ranthambhore (1194 AD)?
(A) Govindraj (B) Prithviraj
(C) Jaichand (D) Anangpal

(E)  Question not attempted

TOTR, & S8 TSiaT (1194 AD) o GEITI shie 942

(A) TifereTrst (B) gefS
(C) =g (D) 3T
(E) SFaiea o

73  Treaty of Purandar 1665 took place between
(A) Aurangzeb and Shivaji (B) Shivaji and Jaisingh I
(C) Aurangzeb and Jaisingh I (D) Rao Shekha and Shivaji

(E) Question not attempted

1665 ST JLaT AT ey fopeteh e g% off?

(A) IS 3T e (B) Turamsht st sfEz 1
(C) 3N 3T sHfEE 1 (D) U= v 3R st
(E) SFgaid 9

X41] @ 22 [ P.T.O.



74  Which of the following is a fresh water lake of Rajasthan?
(A) Sambhar Lake (B) Pachpadra Lake
(C) Didwana Lake (D) Udai Sagar lake

(E)  Question not attempted

freferfiad o @ v § e ar <l gfiiet ki € 22

(A) TR Ee (B) U=9eq 3l
(C) Sreamr e (D) 33T 9P i
(E) SFaiea g

75  Which of the following rural local self government body plays the role of co-joinder chain between
the state government and panchayat samiti?
(A) Gram Panchayat (B) Zila Parishad
(C) Sarpanch (D) Municipality
(E) Question not attempted
TR & 1 TeTor STeiier Ta- ey, T e 31 SerId |l o sfie He-21STeh 2ia i e
v &2

(A) W 9= B) ferufee
(C) uuw (D) TTROTfAeRT
(E) SFaied g

76  Which schedule of Indian Constitution deals with muncipalities?
(A) Eighth (B) Tenth
(C) Twelfth (D) Eleventh

(E) Question not attempted

I HfoerTe sht shi-e STgereh - drfcrehrait § wsiferd 22

(A) st (B) Tt
(C) (D) Tamedt
(E) Irgafaus
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77  Present Vice President of India is
(A) M.Venakaiah Naidu (B) Jagdeep Dhankhar
(C) Dr. Sarvepalli Radhakrishnan (D) Droupadi Murmu

(E)  Question not attempted

R 3 AT 37 B
(A) T ST (B) ST g
(C) i welee TaTFwE (D) A
(E) SFaiea g

78  Who was the first Chairman of the Planning Commission?
(A) K.N.Raj (B) P.C. Mahalanobis
(C) Jawahar Lal Nehru (D) Sardar Vallabh Bhai Patel

(E) Question not attempted

TSHT STRINT o JIH STEeT i A2

(A) HTITS (B) . mRraHIfe
(C) TaTel AT TE& (D) &R Jeay 9IS 9o
(E) SFgaia o

79 Name an ongoing central government scheme in which support of ¥ 6000/- per year in three equal
installments is provided to all land holding farmer families.
(A) PM Krishi Sinchai Yojana (B) PM Kisan Maandhan Yojana
(C) Promotion of Farmer producer (D) PM Kisan Samman Nidhi
(E) Question not attempted
e TR ETT Heerd 36 AT T A, Forest feremer foram aitam s i o foredt § wfe af ot
% 6000/ 3hT FETIAT 3T &t ST 2

(A) TaHH N R=s AT (B) WumHAT foRam Ae s
(C) T IUTGH I TTcdTe (D) et foram g ffer
(E) Irgafaus

X41] @ 24 [ P.T.O.



80 The LCM of two numbers is 960 and their HCF is 24. If one of the number is 192, then the other

numbers is

21 HEAT3HT i THAH G (LCM) 960 & 371 3FhT HEqH GHTIade (HCF) 24 81 Afe Seamsii H 9 T
| 192 €, d1 gel de gt

(A) 5 (B) 8

(C) 40 (D) 120

(E)  Question not attempted / 377 Iy

81 In five given numbers, the average of first two numbers is 8, that of the first four numbers is 12 and
that of the last three numbers is 17. Find the fifth number.
1 7T die ST § § qeell & STl 1 fhd § 2 Tgel 9 §ens! & ed 12 7 7R sifam o
HEATSAT T G 17 8l el ST J1d il
(A) 15 (B) 17
(©) 18 (D) 19
(E) Question not attempted / ?FIENFGT 9

82 A shopkeeper sold an item at 20% loss. If he had sold that item at ¥ 375 more, then he would have
gained 5%. The cost price of the item is
Teh GG Tk a1 2l 20% BT o BT sl=idl 8 Jfe o8 38 g i X 375 39 S S7fereh o sieil el 3
5% ST AT BT 2, A1 % T AT 703 -
(A) %1280 (B) T 1350
(C) R 1455 (D) T 1500
(E) Question not attempted / 3‘!@?!'?{?[ EEl

83  Which of the following operating systems is based on Command Line Interface (CLI)?
(A) Window NT (B) Window 2000
(C) Window 11 (D) MS-DOS
(E) Question not attempted

freaferfiaa & @ wiv-an i fiwen waie og Sty (€. ua.31m8) W Smeiid giar 82

(A) TRNNT B) T 2000
©) faesin (D) THTH-EH
(E) SFgaid 9
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84

85

86

Name the output device used to output video.
(A) Printer (B) Monitor
(C) Speaker (D) Scanner

(E)  Question not attempted

ST ST3TYE o [T ITRATT oY ST ATt HT3YE FSaTsd il A1 <15y

(A) fIex (B) TR
(C) iR (D) THT
(B) rgafta s

What is the full form of RRECL?

(A) Rajasthan Rural Energy Corporation Limited
(B) Rajasthan Rural Energy Company Limited

(C) Rajasthan Renewable Energy Corporation Limited
(D) Rajasthan Renewable Energy Company Limited
(E) Question not attempted

R, AW, 3. |1 T, (RRECL) &1 0 &9 2-

(A)  TSTEIH & TSl haigH ferfies

(B) USTEH & TSl ot fafies

(C) TR F=uere Tsit spidive fafies

(D) TSR F=uere TSttt ferfives

(E) SFgaiea o

“NABARD” (National Bank For Agriculture and Rural Development) was established in
T i e i () B AT

(A) 1980 (B) 1981

(C) 1982 (D) 1985

(E)  Question not attempted / 3T q9g

X41] @ 26
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87

88

89

Identify the statement which is not correct about the Rubber crop.
(A) Itis an equatorial crop.

(B) Itrequires dry climate.

(C) [Itis an Important Industrial raw material.

(D) Itis mainly grown in Kerala, Tamil Nadu and Karnataka.
(E) Question not attempted

U Y T T L ST &S hl FHe o T H Tl e &

(A) I8 TF HAET HHd 2

(B) 6 foTT ST STcialTg il SATererehell &1l 2

(C) I8 T Heca Ul STelfieh Fedl A1 2

(D) 8 T &9 Y Hld, AHTHTS, I Friiesh H T ST 8

(E) Irgafaus

Land reform was the main focus of our Five Year Plan.
(A) First (B) Second

(C) Third (D) Sixth

(E) Question not attempted

fw gu g i TS 3 T A (i) ol
(A) T B) Tsd=

(C) = (D) Bt

(BE) Irgafaus

The difference between compound interest and simple interest on a certain sum for 2 years at 5% per

annum is ¥ 279. The sum is

T T TR IR 5% T G 2 TNT o fIT Tehal g, saTST ST AL o7 o 7e 3Tax % 279 2 e I8 AT
2rfi-

(A) % 1,00,000 (B) % 1,10,000

(C) R 1,11,600 (D) % 1,16,000

(E) Question not attempted / C’H@?lﬁ_d qq
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90

91

92

93

94

Ifl:l:l=2:3:5,then X:y:z=
Xy z
ZFf'?:’l:l:l:2:3:5,ﬂax:y:z=
Xy z
(A) 6:15:10 (B)
(C) 15:10:3 (D)

(E)  Question not attempted / 377 Iy

ffeafad # € H-91 3168 35 1 22

(A) Eue (B)
(C) =rRaifor (D)
(E) SFgaid 9

“ Hehed © o8 H shIH-ET U &7

(A) 81 B)
€ §q (D)
(E) SFaiea g

 GEHTEY * 7163 H 1|1 Ie 87

(A) ¥ (B)
(€ & D)
(E) SFaied o

“SHIST IATAT TS B ATAT 1S haTed ohl Fal 379 =

(A)  gforer & st ST & (B)
(C) Higa 3T (D)
(E) SFaiea o

X41] @ 28
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IBERS

Gf“:l 6%

Ak e foiam 1 shreor g 2
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95  frreifena e o foram <t et awTfg B2

(A) Toror Gapedt (B) foim weieft
(C) o= gaiedt (D) IIg deiell
(E) S¥aiea g

96  Match List-I with List-II

List-1 List-1I
(Word) (Opposite)
a. Discourage L. Lax
b.  Attractive II.  Encourage
c. Strict III.  Accept
d.  Denounce IV. Repulsive

Choose the most appropirate answer from the options given below:
(A) a-1V,b-1Ic-1I,d-1 B) a-Lb-Illc-1V,d-1I
(C) a-II,b-1V,c-1,d-1II (D) a-lL,b-Lc-I,d-1V

(E) Question not attempted

97  Match List-I with List-11

List-1 List-11
a. Extole / Extol L. Vague
b.  Obscure II.  Frugal
c. Thrifty III. Mysterious
d.  Enigmatic IV. Laud

Choose the most appropriate answer from the options given below:

(A) a-I,b-ILc-1,d-1V (B) a-IV,b-Lc-1I,d-1III
(C) a-Lb-1V,c-1III,d-1I (D) a-NLb-I,c-1V,d-1
(E) Question not attempted
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98 Choose the most appropriate option to complete the sentence given
The language used in floating a tender is
(A) brief and to the point
(B) descriptive and exhaustive
(C) informal and casual
(D) elaborate and flowery

(E) Question not attempted

99 “3ffE H T 38 TeTal 1 31 2 (e H @ werd 3ugh forhed =1 =)
(A) ST ST
(B) 3SR & ST
(C)  STel ST
(D)  SATHA-GE AT
(E) SFaiea o

100 = 1 HTEE 11§ fre hifsig

gef-1 -1
(¥7159) (e
a. 34 L 3y
b. et I gEia
c. T Il =
d 3% Iv. d/&d

e faw e fereredt & @ watfees v o 6 = il
(A) a-Lb-ILc-ILd-1V
(B) a-NLb-I,c-Ld-1V
(C) a-NLb-Lc-ILd-1V
(D) a-1V,b-Lc-1I,d-1I
(E) SFgaid 9
X41] @ 30 [ P.T.O.
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SPACE FOR ROUGH WORK / T% %1d & fag @

ST IH | & Uit & — o U S fEd Ui, TiEr SEin aX gl we BT | qd gl
A UG DI S Wil dveh b A, ahenedt @ fadr uiq @t e T8 el | e g
T YA Dl qo Ul Bl S0 U1 ST 6L, T&cia Ui bl Jo Ui & 6 A3 A8 B qraemi
Tadh ST T gl @ a | whanedf fadw ufq @ e | o S
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